REZ 08 Pt K7 |Ground Total] 913 263 ?
B3 f&] OUT | IN JTOTAL ouT] IN JTOTAL ouT ] IN JTOTAL
Al Bk | 4] 46 42 88 | * 0 38 39 77
EE = 31 41 37 78 44 38 82 0
Hi1)I_#SAERY 3 0 39 [ 41 80 0
WriE #E | 3] 38 37 75 38 40 78 39 36 75
PAE mXK ] 2 0 0 39 43 82
BA RAE 1] 37 37 74 33 40 73 35 38 73
AE HE | 1] 38 38 76 40 45 85 38 34 72
3 Isttotall 303 2nd.total 313 3rd.totall 297
R Z YA RS JGround Total] 958 5 6
EF 2] OUT | IN JTOTAL ouT] IN JTOTAL ouT ] IN JTOTAL
A EE 41 39 37 76 42 37 79 41 41 82
H s 401 39 39 78 41 38 79 41 42 83
oH & [ 3] 41 | 43 84 | * 0 0
Sl fliE § 2] 43 38 81 42 37 79 43 38 81
baO fEAERR] 2 0 41 38 79 0
WA ffith | 2§ 37 42 79 39 38 77 43 41 84
ZkE ] 1 0 0 45 39 84
T N 1st.total] 314 2nd.totalf 314 3rd totall 330
=22 ﬁw Ground Total] 891 TE{S'Z 1
=3 2] OUT | IN JTOTAL ouT] IN JTOTAL ouT ] IN JTOTAL
HAEEH JE# ] 4 0 0 0
HW B 21 40 41 81 * 0 38 36 74
#E 55 1 2] 39 35 74 38 39 77 37 39 76
KiE #RER 2 | 35 39 74 42 36 78 39 35 74
AT BEa 2] 37 36 73 37 34 71 37 38 75
EA gefr 121 37 1 36 73 38 ] 37 75 36 | 37 73
FHR Gz 11 0 41 40 81 0
N Tsttotall 294 2nd.total 301 3rd total] 296
j('_%"% 5&’%7{? Ground Totalf 959 ]IEEZ 7
EF 2] OUT | IN JTOTAL ouT] IN JTOTAL ouT ] IN JTOTAL
e 5 fal 42 | 39 81 44 | 43 87 0
AR A L4l 40 41 81 x| 39 36 75 40 39 79
BHE == 4] 39 38 77 43 43 86 39 40 79
NS IE 0 42 43 85 40 37 77
alE EZ& | 3§ 39 38 77 44 48 92 40 37 77
ZH = 12 0 0 0
it ik |1 | 43 37 80 0 41 37 78
o 1st.total] 315 2nd.totalf 333 3rd totall 311




=2 R A |Ground Total] 952 [EE 6
=F 24 OUT IN FTOTAL ouT IN JTOTAL ouT IN FTOTAL
XL BEH |4 0 0 0
| Es AE 13 41 | 39 1 80 41 | 40 | 8i 36 ] 37 | 73
XKE 3 3 40 42 82 41 39 80 42 39 81
[\ 2 0 47 43 90 * 0
2 39 44 83 x| 48 39 87 43 39 82
: 1 40 40 80 36 36 72 35 36 71
i #AK ] 1] 43 | 40 83 0 46 | 42 88
1st.totall 325 2nd.totall 320 307
k% Ground Totall 930 E{l‘[ 3
2] OUT IN FTOTAL ouT IN JTOTAL ouT IN FTOTAL
31 41 38 79 39 36 75 37 36 73
3 0 44 38 82 38 37 75
31 41 38 79 46 42 88 * 0
2 38 41 79 37 38 75 38 36 74
2 40 42 82 * 0 0
1 0 0 40 39 79
1 41 38 79 39 42 81 40 44 84
1st.totall 316 2nd.totalff 313 Jrd.totalf 301
BEft K=E Ground Totall 950 IIEﬁ'Z 4
24 OUT IN FTOTAL ouT IN JTOTAL ouT IN FTOTAL
3 37 37 74 36 39 75 39 34 73
3 42 42 84 39 40 79 41 37 78
3 43 42 85 0 39 43 82
3 43 42 85 x| 43 45 88 * 0
: 3 0 0 0
1 2 41 39 80 42 40 82 36 38 74
= 2 0 41 43 84 43 41 84
1st.totall 323 2ndtotalff 320 3rd.total 307
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